30

8
8

69
25
0

0
25
0

52,4147 .,9% Ak 4,599

N b
45
-(p)|A(c3699 8834805421 ,984

P A 4,814

Of o 3,0p

33
33
33
39,26637,2Ph 2,005
2

620
24 %

b

0
3
0

29
29
29
5
0
27.,91022 ., 6p8& 4,342

24 .,3p620.,52Ph 4 .844
A 2609(29226[614, 3

9,21 10,740
2, 8|14 2, 47
2, 84 2, 37

24

A 2609(29226[614, 3

90

10
5000
3000

(2

42 0|0
(e) y|[4 3699883480 521,984

(c) +())#(e36991883480 521,984

(a)

90
10

0 503

73
61
39

1
b 1

8 3

1
490|745 0[1

270]3310(9
39094 7 0[5

2

2.151 2.75] 2 .65

9, %9 15,7%4 6, 35
3193[33898[@2305|3(2
0
35
422358969 45264|34

82,28380,50& 2,7F 9
11,3211,

(b
63 %




4 5%

29 % 29 %




06 - 0832307 382701693813 |189389
06- 092 202z¢ 2, 3p1,000]1,000{00
06 - 012 : 21,3031 2 ,61|91 2 ,30[3L 1,06|2
06-022 6140 5,88 5,07 4,87
06-032- 716 81 78 28

06-042 31924 4,86 1,87 1, 2

06-052-2128¢6 3,2 29 29

06-062-5116 4,05 1,06 2,91
06 - 072 351,04/62 2,98/ 2,90|5L 8 ,18(6
06-002 3289 3,34 1,24 1,861




06- 012 - B8 0 79 0

06 - 022 &+ ,85|4 ol 7,07 0 t o

29

06- 032 3287 3,36 1,80 1,86%

06- 042 -1209 1,238 20 52

06- 052 3299 2, 2

-2
=
B
=
[y
@
=

06 - 062 8 R, 64|07 7 ,15|28 4 , 43|07 0 , 20|2

06-072- 20| 24,64|9 0l1p40

4225850060116 343|1,318]16




